;> restart

| PROBLEMA DEL ARCO Y FLECHA

> EcuaDinamica = Masag-diff (s(1), 1$2) + Hooke-s(t) =0
2

EcuaDinamica = Masa, ( — s(1) J + Hooke s(t) =0

] a7
(1143) ( 23 )
100 981 1000
H = - = ——: M = -
> Hooke ( 3 ) ; gravedad 100 ° asay aravedad
10
381
H =
ooke 10
981
gravedad : 100
__23
I Masay : 9310
T __ 486 _a
> Condiciones := s(0) 1000’ D(s)(0) =0;
P __ 243 _
I Condiciones :=s(0) 500 ,D(s)(0)=0
> FEcuaDinamica,
23 ¢ 381 B
9810 47 s(t) + 10 s(t) =0

_> RecorridoArco = dsolve( { EcuaDinamica, Condiciones}) : evalf (%, 4)
s(t) =-0.4860 cos(127.4 ¢t)

_> plot(rhs(RecorridoArco), t=0..0.02)
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> TiempoArco := solve(rhs(RecorridoArco) =0, t) : evalf (%, 3)
0.0123 (6)

=> VelocidadSalida = subs(t = TiempoArco, rhs(diff (RecorridoArco, t))) : evalf (%, 3);

evalf(%%,3)-(';)(6)%)

61.9
222.8400000 @)

| >
| TIRO PARABOLICO
> FEcuaVertical == diff (y(t), t$2) =-gravedad; EcuaHorizontal = diff (x(t), t)

= VelocidadSalida-cos( % )
2

d 981
EcuaVertical .= — y(t) = - ——
cuaVertica dt2 y(t) 100
. . d 729
EcuaHorizontal .= — x(t) V955167 /2 ¢))

dt 23000

> CondVerticales := y(0) =2,D(y) (0) = VelocidadSalida-sin(% )
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CondVerticales == y(0) =2, D(y) (0) = 2;330 V955167 /2

CondHorizontales == x(0) =5
CondHorizontales =x(0) =5

SolVertical == dsolve( { EcuaVertical, CondVerticales}) : evalf (%, 3); SolHorizontal
:= dsolve( { EcuaHorizontal, CondHorizontales }) : evalf (%, 3)
y(t) =-4.90 £ +43.7t +2.
x(t)=43.7t+5.

TiempoVuelo = solve(rhs(SolVertical) =0, t) : evalf (%, 3)
-0.05, 8.97
DistanciaMaxima = subs(t= TiempoVuelo,, rhs(SolHorizontal ) ) cevalf (%, 5)
398.25
TiempoAltura := solve(rhs(diff (SolVertical, t)) =0, t) : evalf (%, 3)
4.46
AlturaMaxima = subs(t = TiempoAltura, rhs(SolVertical) ) : evalf (%, 5)
99.816
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